
THE JUNK SELLER 
 

Ques.1 Find out:- 
 ¯ÖŸÖÖ �ú¸üÖê 
 

a) A quarter of Rs. 500 = Rs._____________ 
500 ¹ý¯ÖμÖê �úÖ “ÖŸÖã£ÖÖÔ¿Ö ._____________ 

b) Half of Rs. 1500 = Rs._____________ 
1500 �úÖ †Ö¬ÖÖ._____________. 

c) Double of Rs. _________ = Rs.500 
_________ ¹ý¯ÖμÖê �úÖ ¤üÖê�Öã−ÖÖ = 500 ¹ý¯ÖμÖê 

d) 9 x Rs. 4.50 = Rs._____________ 
9 x 4.50 = ._____________. 

e) 6 x Rs. 50 + 4 Rs. 100 = Rs._____________ 
6 x 50 ¹ý¯ÖμÖê + 4 x 100 ¹ý¯ÖμÖê = ._____________. 

 
Ques.2 Solve these:- 
 Æü»Ö �ú¸üÖê  
  

a) 750 G + __________ G = 2 Kg. 
750 �ÖÏÖ + ________ �ÖÏÖ = 2 ×�ú�ÖÏÖ 

b) 100 ___________ G    = 10 Kg.  
100 �ÖÏÖ0 x _______ �ÖÏÖ0 = 10 ×�ú�ÖÏÖ0 | 

c) 450 G + 500 G = ______Kg. 
450 �ÖÏÖ0 + 500 �ÖÏÖ0 = _______ �ÖÏÖ0 | 

d) 700 G + ________ Kg + 300 G == 5 Kg. 
700 �ÖÏÖ0 + _______ ×�ú�ÖÏÖ0 + 300 �ÖÏÖ0 = 5 ×�ú�ÖÏÖ | 

e) 2 x 500 G + 4 _______Kg = 13 Kg. 
2 x 500 �ÖÏÖ0 + 4 x _______ ×�ú�ÖÏÖ0 = 13 ×�ú�ÖÏÖ0 | 
 

 
 
Ques.3 Ramu earns Rs. 90 in a day, how much he will earn 
 ¸üÖ´Öæ ‹�ú ×¤ü−Ö ´Öê 90 ¹ý¯ÖμÖê �ú´ÖÖŸÖÖ Æîü, ¾ÖÆü ×�úŸÖ−Öê ¹ý¯ÖμÖê �ú´ÖÖ‹�ÖÖ | 
 

CHAPTER 5 



a) In 5 days == Rs.___________. 
5 ×¤ü´Ö ´Öê  
 

b) In 10 days == Rs. ____________. 
10 ×¤ü−Ö ´Öê  
 

c) In a April month == Rs. _____________ 
‹�ú ´ÖÆüß−Öê ´Öê (†¯ÖÏî»Ö)  
 

 
Rate – list 
Kind of junk price per Kg 
 
1. Iron  Rs. 12/- 
 
2. Newspaper Rs. 6/- 
 
3. Waste paper Rs. 5/- 
 
4. Brass Rs. 200/- 
 
5. Plastic Rs. 10/- 
 
6. Aluminum  Rs. 90/- 

Ques.4 Look up the rate list and find out the  
 cost of the junk? 
 ´Öæ»μÖ ÃÖæ×“Ö �úÖê ¤êü�Ö�ú¸ü, ×−Ö´−Ö �ú²ÖÖ›êü �úß �úß´ÖŸÖ ¯ÖŸÖÖ �ú¸üÖê ? 
 

a) Cost of 38 Kg newspaper___________. 
38 ×�ú�ÖÏÖ0 †�Ö²ÖÖ¸ü______________ 
 

b) Cost of 28 Kg plastic___________. 
28 ×�ú�ÖÏÖ0 ¯»ÖÖÛÃ™ü�ú______________ 
 

c) Cost of 16 Kg iron___________. 
16 ×�ú�ÖÏÖ0 »ÖÖêÆüÖ______________ 

 
d) Cost of 3 Kg brass__________. 

3 ×�ú�ÖÏÖ0 ¯ÖßŸÖ»Ö______________ 
 

e) Cost of 4.5 Kg aluminum___________. 
4.5 ×�ú�ÖÏÖ0 †»´Öæ×−ÖμÖ´Ö______________ 
 

f) Whose cost will be greater- 3 Kg aluminum or 2 Kg of brass? 
×�úÃÖ�úß �úß´ÖŸÖ •μÖÖ¤üÖ ÆüÖê�Öß - 3 ×�ú�ÖÏÖ0 †»´Öæ×−ÖμÖ´Ö μÖÖ 2 ×�ú�ÖÏÖ0 ¯ÖßŸÖ»Ö ? 
 

g) Whose cost will be lesser- 4 Kg iron or 8Kg waste paper? 
×�úÃÖ�úß �úß´ÖŸÖ �ú´Ö ÆüÖê�Öß – 4 ×�ú�ÖÏÖ0 »ÖÖêÆüÖ μÖÖ 8 ×�ú�ÖÏÖ0 ¸ü§üß �úÖ�Ö•Ö ? 
 

 
Ques.5 How many times can you. 
  ×�úŸÖ−Öß ²ÖÖ¸ü †Ö¯Ö �ú¸ëü�Ö 



 
a) Subtract 12 from 108 ____________. 

108 ´Öë ÃÖê 12 �úÖê ‘Ö™üÖ 
b) Add 18 to make 216 ____________. 

18 �úÖ μÖÖê�Ö 216 ²Ö−ÖÖ−Öê � êú ×»Ö‹ 
c) Multiply 9 to make 729 ____________. 

9 �ú �Öã�Ö−Ö 729 ²Ö−ÖÖ−Öê � êú ×»Ö‹ 
d) Subtract 14 from 196 ____________. 

196 ´Öë ÃÖê 14 �úÖê ‘Ö™üÖ 
 
Ques.6 Solve the following:- 

×−Ö´−Ö �úÖê Æü»Ö �ú¸üÖê:- 
 

a) If 28 + 72 = 100, then 720 + 280  = _________. 
μÖ×¤ü 28 + 72 = 100 Æîü ŸÖÖê 720 + 280 = _______ 

b) 6000 + 60 + 6 =_________. 
6000 + 60 + 6 = _______ 

c) 55 x 55  =  55 x   _______ + 55  x 10. 
55 x 55 = 55 x _______ + 55 x 10 

d) 3 x 350  =  700  +  ____________. 
3 x 350 = 700 x _______ 

e) 1 week x7 =  _________ days. 
1 ÃÖ¯ŸÖÖÆü x 7 = _______ ×¤ü−Ö 

 
 
Ques.7   
 

a) 15 time 30 is 450, then 15 time 35 = __________. 
15 �Öã−ÖÖ 30 = 450 Æïü ŸÖÖê 15 �Öã−ÖÖ 35 = ________ 

b) 10 time 20 is 200, then 10 time 28 = __________. 
10 �Öã−ÖÖ 20 = 200 Æïü ŸÖÖê 10 �Öã−ÖÖ 28 = ________ 

 
 
 
 
Ques.8 Binu gives 5 time 50 rupee note to tinu. How much money he gave 

 to tinu? 
 ²Öß−Öæ −Öê ™üß−Öæ �úÖê ¯ÖÖÑ“Ö ²ÖÖ¸ü 50 ¹ý¯ÖμÖê � êú −ÖÖê™ü ×¤ü‹ | ˆÃÖ−Öê ™üß−Öæ �úÖê � ãú»Ö ×�úŸÖ−Öê ¹ý¯ÖμÖê ×¤ü‹ ? 



 
Ques.9 Reena wants to arrange her 5 rupee note, 2 ten rupee note 20 rupee 

 note, 50 rupee note, 100 rupee note, 500  rupee note, help her to  
¸üß−ÖÖ †¯Ö−Öê ‹�ú 5 ¹ý¯ÖμÖê �úÖ −ÖÖê™ü, ¤üÖê 10 ¹ý¯ÖμÖê � êú −ÖÖê™ü 2 20 ¹ý¯ÖμÖê �úÖ −ÖÖê™ü, ‹�ú 50 ¹ý¯ÖμÖê 
�úÖ −ÖÖê™ü, ‹�ú 100 ¹ý¯ÖμÖê �úÖ −ÖÖê™ü †Öî¸ü ‹�ú 500 ¹ý¯ÖμÖê �úÖ −ÖÖê™ü ¾μÖ¾ÖÛÃ£ÖŸÖ �ú¸ü−ÖÖ “ÖÖÆüŸÖß Æîü 
ˆÃÖ�úß ´Ö¤ü¤ü �úß×•Ö‹ | 

a) Arrange in ascending order.       
²ÖœüŸÖê � Îú´Ö � êú ×»Ö‹:-   
_______, ________, _________, __________, _________, 
_________, __________. 

 
b) Arrange in descending order. 

‘Ö™üŸÖê � Îú´Ö � êú ×»Ö‹:- 
_______, ________, _________, _________, __________, 
_________, __________. 

 
c) Find the note placed at 5th position starting from 5 rupee 

note_____________. 
μÖ×¤ü 5 ¹ý ÃÖê ¿Öã¹ý ×�úμÖÖ •ÖÖ‹ ŸÖÖê ¯ÖÖÑ“Ö¾Öà •Ö�ÖÆü ¯Ö¸ü �úÖî−Ö ÃÖÖ −ÖÖê™ü †Ö‹�ÖÖ | _________ 
 

 
 
 

 Ques.10 See the table and give your answers:- 
 ÃÖæ×“Ö �úÖê ¤êü�Ö�ú¸ü ˆ¢Ö¸ü ¤üß×•Ö‹:- 
 

I. Who paid lesser amount? 
×�úÃÖ−Öê �ú´Ö ¸üÖ×¿Ö †¤üÖ �úß ? 

 
II. Who paid greater amount and how much? 

×�úÃÖ−Öê †×¬Ö�ú ¸üÖ×¿Ö †¤üÖ �úß ? 
 

III. What will be their monthly installments? 

Name  Loan  loan 
  taken  paid in 6 months 
  
 
 
Debu  Rs. 1800/- Rs. 1830/- 
 
 
Kali  Rs. 1800/- Rs. 2100/-  

¤üÖê−ÖÖë �úß ¯ÖÏ×ŸÖ ´ÖÖÆü ×�ú¿ŸÖ ×�úŸÖ−Öß ÆüÖê�Öß ? 
 

 
 



ANSWERS 
 
 
Ans.1  

a) Rs. 125 
b) Rs. 750 
c) Rs. 250 
d) Rs. 40.50 
e) Rs. 700 

 
Ans.2  

a) 1250 G  
b) 100 G 
c) 950 G 
d) 4 Kg 
e) 3 Kg 

 
Ans.3  

a) Rs.450 
b) Rs.900 
c) Rs. 2700 

 
Ans.4  

a) Rs. 228 
b) Rs. 280 
c) Rs. 192 
d) Rs. 600 
e) Rs. 405 
f) Brass 
g) Iron 

 
Ans.5  

a) 9 
b) 12 
c) 3 
d) 14 

 
Ans.6 

a) 1000 



b) 6066 
c) 45 
d) 350 
e) 49 

 
 
 
Ans.7  

a) 525 
b) 280 

 
Ans.8 Rs. 250 
 
Ans.9 

a) 5,10,10, 20, 50, 100, 500. 
b) 500, 100, 50, 20, 10, 10, 5. 
c) 100 

 
Ans.10 

a) Debu 
b) Kali – Rs. 300. 
c) Debu – Rs.305. 
d) Kali – Rs. 350. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
 


